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Question 1

Question Type: MultipleChoice

One of the reasons that segments routing (SR) is introduced is that traditional LDP has some restrictions. Which of the following
statements about LDP restrictions are true?

Options:

A- LDP does not support automatic label allocation.
B- LDP supports path computation only based on IGP SPF(minimum cost ), not based on traffic engineering.
C- LDP path computation depends on an IGP. If the IGP and LDP are not synchronized , black holes are generated , affecting services.

D- LDP has 11 types of protocal packets, which greatly increases link bandwidth consumption and device CPU usage.

Answer:

B,C,D

Question 2

Question Type: MultipleChoice




On the network shown in the following figure, Router A functions as a DHCPV6 relay agent, and Router B functions as DHCPV6 server.
Which of the following paremeter must be configured on Router B?

Options:

A- DHCPv6 DUID

B- IPv6 address of the DHCPV6 relay agent
C- DHCPv6 address pool

D- RA on GO0/0/1 of Rouer B

Answer:

A CD

Question 3

Question Type: MultipleChoice

On Huawei AR G3 Series routers, Which authentication modes does AAA support



Options:

A- None
B- Local
C- Radius
D- 802.1X

Answer:

A B, C

Question 4

Question Type: MultipleChoice

Huawei VRP platform which of the following can be used to invoke the history commands saved by the command line interface?

Options:

A- Upper cursor key



B- Left cursor key
C- Ctrl+P
D- Ctrl+U

Answer:

A C

Question 5

Question Type: MultipleChoice

As Shown in figure, all switches run STP. When a topology is stable, Power off SW

Options:

A- Which of the following statements are true?

A- SWC immediately sends a TC-BPDU through G0/0/1

B- SWC send configuration BPDU through GO0/0/1 after the max age timer expires.
C- SWB periodically sends Configuration BPDUs through G0/0/1



D- SWC and SWB immediately re-elect the root bridge

Answer:

B, C

Question 6

Question Type: MultipleChoice

An AR2200 router is required to be configured from scratch. Which step are needed to achieve this?

Options:

A- Reset the saved configuration
B- Clear the current configuration
C- Reboot the AR2200

D- Assign the configuration file to be used at next startup

Answer:




Question 7

Question Type: MultipleChoice

An ACL rule is as follows. Which of the following IP address can be matched by the permit rule? rule 5 permit ip source 10.1.1.0
255.0.254.255?

Options:

A-9.1.11
B-8.2.2.1
C-7121
D-6.1.3.1

Answer:

A D



Question 8

Question Type: MultipleChoice

Which username and password will be used by the peer router to perform PPP link authentication? aaa
local-user test password cipher test

local-user test service-type ppp

local-user testl password cipher testl local-user testl service-type telnet local-user test2 password cipher test2
#

interface Serial1/0/0 link-protocol ppp

ppp authentication-mode chap

ip address 10.0.12.1 255.255.255.0

Options:

A- user name:test Password: test
B- user name:testl Password: testl

C- user name:test2 Password: test2



D- user name:test2 Password: test

Answer:

Question 9

Question Type: MultipleChoice

Which of the following statements is false about a gratuitous ARP packet?

Options:

A- Gratituitous ARP packet are used to check for Duplicate IP addresses. Normally, a Host does not receive an ARP reply packet after
sending an ARP request packet with destination address of its own IP address. If the Host receives an ARP reply packet, Anoth

B- gratuitous ARP are used to advertise a new MAC address. If MAC address of a host changes because its network adapter is
replaced, the host send a gratitious ARP packet to notify all hosts of the change before the ARP entry ages out.

C- Gratuitous ARP packet are used to activate gateways when a host is idle

D- Gratuitous ARP packets are used to notify the active/standby switchover of router in a VRRP group.



Answer:

Question 10

Question Type: MultipleChoice

user-interface con 0
user-privilege level 15 authentication-mode password
set authentication password cipher huawei2012

Which of the following information is false about preceding configuration?

Options:

A- The Administrator wants to log in to the device and manage through console port
B- After the configuration is completed, the administrator cannot remotly login to the device to manage the device
C- the user who log into the device through the console port has the highest level of user rights

D- The password for logging into the device through the console port is 'cipher huawei2012'



Answer:
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